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61- A: I need the camera because I ... take some pictures. But I don't know how it works.

B: Don’t worry! I ... show you.

1) will / will 2) am going to / will
3) will / am going to 4) am going to / am going to
62-This year’s exam results are surprisingly good. The girls ... have done better than we expected.
1) naturally 2) appropriately 3) carefully 4) especially
63- When my wife and I first arrived in New York, we were full of ... for the future.
1) pattern 2) hope 3) danger 4) place
64- Children should learn how to ... themselves against different diseases in their lives.
1) visit 2) defend 3) collect 4) destroy

65-He is a/an ... farmer, a kind father, and a member of an old and great family.
1) wild 2) endangered 3) difficult 4) hard-working



66-The manager addressing the members said that the main purpose of this meeting is finding
proper ways to ... the quality and the quantity of the products we produce in this factory.
1) create 2) increase 3) exchange 4) capitalize

67-The education officials urge that schools should begin on ... unless the health officials fighting
against coronavirus prevent students from going to school.
1) strategy 2) future 3) wildlife 4) schedule
PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

The human brain is very mysterious. Many questions about the brain have not yet been
answered. For example, why do we need to sleep or why do we dream? there is a lot about the
brain that we do not yet understand. believe it or not, people used to think of the brain as useless
stuffing. Of course, we now know the brain is our control center. The surface of the brain is
called the cerebral cortex. It is the part of the brain that makes us intelligent, and it consists of
four parts called lobes. The front lobe is where much of our thinking and feeling happens. The
top lobe processes information which is coming from parts of our bodies such as our skin and
muscles. The side lobe plays an important role in hearing, speech, and long-term memories while
the back lobe processes images from our eyes.

You might be surprised to learn that the world’s best supercomputer is only about as powerful
as half a mouse brain. Your brain is packed with 100 billion brain cells called neurons. They
send information to your body telling it what to do, and they receive information from each of
your senses, what you see, feel, taste, hear, and touch. All of this information travels to and from
parts of your body along your spinal cord, which is like a highway found down the center of your
back. As the information travels from neuron to neuron, pathways are created. When you think
about or practice something again and again, those pathways get stronger. That’s how the brain
learns and remembers. No computer on earth can compete with the speed of your brain and how
much information it can hold.

68- Which of the following is TRUE, according to the passage?
1) People have always thought the brain is our control center.
2) The human brain has 100 million cells called neurons.
3) The top of the cerebral cortex processes things that people touch.
4) The cerebral cortex consists of four parts called pathways.

69- Based on the information presented in the passage, it can be concluded that ... .
1) the human brain is not so mysterious as a supercomputer is
2) a mouse brain is about twice as strong as the world’s best supercomputer
3) people who injure the front lobe of the cerebral cortex may have trouble remembering things
4) humans have designed computers based on the structure of the brain

70-The underlined word “which” in the second paragraph refers to ... .
1) information 2) highway 3) part of your body 4) spinal cord

71-She kept weighing herself to see how ... heavier she was getting, because she was
worried about her weight and health.
1) many 2) old 3) much 4) long

72-She had so ... money that she could hardly buy anything, and finally died of hunger.
1) few 2) a few 3) a little 4) little

73-Mr. Bean called the hotel and asked if they had any double rooms ... for the weekend.
1) amazing 2) probable 3) available 4) absolute

74- A: “How does your brother get to work without a car? Does he take the bus?”

B: “No, he cuts our neighbor’s grass in ... for a ride to work.”
1) respect 2) exchange 3) means 4) experience

75-He still works very hard despite his doctor’s recommendation to reduce his working hours and
take more ... of his general health.
1) point 2) care 3) condition 4) disease

76-1 did not take ... of the pop-up window message and deleted the document that I had prepared
for my class project.
1) sign 2) form 3) notice 4) interview



PART B: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Art is for everyone. Parents can help kids appreciate art by making it available for them.
Unfortunately, many adults do not enjoy art simply because they do not understand the stories
or context. Actually, children can appreciate art as well as any adult. Here are some simple ways
to encourage children to appreciate art.

Find art that will allow children to easily make a connection with their lives. Choose the
material according to their ages. Pictures and sculptures of children, for example, or dogs and
cats are easily understood, and it is easy to start a conversation about how the themes in the art
are connected with familiar people and animals in kids’ lives. Music and dance are very
important to children and should also be used.

Explore the stories behind famous, and not so famous, art. Encourage children to make up their
own stories about paintings and then research the real story behind the paintings.

Create art with children. Teach them that art is not something that they must only observe but
something that they can create. Discuss art with children. Encourage them to express their views
on art. Let them know that it is okay to dislike something, and listen to their preferences when
planning events.

Visit museums and performances. Explore the artwork in local museums that will interest
them. Most cities have children’s theaters and music groups, and often free performances are
offered. Many art museums have special tours for children.

Through a variety of artistic experiences, kids will learn how to appreciate art and enjoy it.

77- When choosing art for children, parents should ... .
1) take their children’s ages and experiences into consideration
2) pay close attention to their children’s ability to understand
3) ask professional artists for some useful advice
4) try to find some art beyond their imagination

78-The underlined phrase “make a connection” in paragraph 2 is closest in meaning to ... .
1) satisfy 2) compare 3) relate 4) introduce

79- Which of the following should NOT be done in creating art with children?
1) Allowing children to speak out their own opinions on art
2) Making children interested in everything about art
3) Allowing children to have their own likes and dislikes
4) Talking with children about something on art

80-We can learn from the passage that helping children appreciate art ... .
1) is highly necessary for their growth
2) will improve their school performance
3) can help them make more friends at school
4) needs parents’ encouragement and instruction
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